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000000 Absolute Maximum Ratings / Ta=250

oo od oo N-channel P-channel unit
oooooooooo VDSS 30 O 30 \Y
ooopoooooo VGSS + 20 + 20 \Y
00ooooobed ID 25 018 A
oooooooooon IDP PW O 10us, duty cycle O 1% 10 072 A
oooo PD 0000000 (900mm?x 0.8mm)C0 00 lunit 0.9 w
ooooog Tch 150 O
oooood Tstg 0 5500 150 O

00000 Electrical Characteristics / Ta=250
aog aog aog - noo unit
min typ max
[N-channel]
goodooooooooo V(BR)DSS | ID=1mA, VGs=0 30 \%
oo0ooooooooooo IDSS VDSs=30V, VGS=0 1| uA
ooooooooooo IGSS VGs=+ 16V, Vps=0 + 10| uA
oooooooooooo VGs(off) | VDs=10V, ID=1mA 1.2 26| V
ooooooooo |yfs| VDs=10V, ID=1.5A 1.2 2.0 S
Sataisiatalaiatalatalals Rps(on)l | ID=1.5A, VGS=10V 79 105 | mQ
Rps(on)2 | ID=1A, VGS=4V 150 210 | mQ

oooo Ciss VDs=10V, f=1MHz 187 pF
oooao Coss VpDs=10V, f=1MHz 40 pF
oooao Crss VDs=10V, f=1MHz 33 pF
ooopoooooo td(on) gooooooo 7.8 ns
ooooooo tr oooooooo 18.5 ns
ooooooooo td(off) gooooooo 22 ns
oooo tf ooooooogo 12 ns
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goooooooon

oo od od - oo unit
min typ max
ooooogoo Qg VDs=10V, VGs=10V, ID=2.5A 5.2 nC
oooooooooo Qgs VDs=10V, VGSs=10V, ID=2.5A 1 nC
ooooooooooo Qgd VDs=10V, VGs=10V, ID=2.5A 0.97 nC
oooooooo VsSD 15=2.5A, VGS=0 0.9 12| V
[P-channel]
oooooooooooo V(BR)DSS | ID=0 1mA, VGS=0 O 30 \Y
oooooooooooon IDSS Vps=0 30V, VGs=0 01| uA
ooooooooogo IGSS VGs=+ 16V, Vps=0 + 10| uA
oooooooooooo VGs(off)y | Vbs=0O 10V, Ip=0 1mA 012 26| Vv
ooooooooon |vfs | Vps=0O 10V, Ip=0 1A 1.1 1.8 S
0oo0O0oO0O0O0O0000n Rps(on)l | Ip=0 1A, Vgs=0O 10V 180 235 | mQ
RDs(on)2 | Ip=0 0.5A, Vgs=0 4V 320 450 | mQ
oooo Ciss Vps=0 10V, f=1IMHz 226 pF
oooo Coss Vps=0 10V, f=IMHz 43 pF
gooo Crss Vps=0O 10V, f=1IMHz 36 pF
ooopoooooo td(on) gooooooo 85 ns
ooooogo tr gooooooo 10.5 ns
ooooooooon td(off) gooooooo 29 ns
oooo tf gooooooo 22 ns
ooooogoo Qg Vps=0 10V, VGs=0 10V, Ip=0 1.8A 55 nC
oooooooooo Qgs Vps=0 10V, VGs=0 10V, Ip=0 1.8A 1 nC
ooooooooooo Qgd Vps=0 10V, VGs=0 10V, Ip=0 1.8A 0.97 nC
oooooooo VsD Is=0 1.8A,VGs=0 0091 015| Vv
ooo gooooo
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